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® PART 11

p. 14~15
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CHECK-UP

You should take notes.

He must get up early.

My brother will ride a bicycle.

She can translate Latin into English.

Ben might travel around South Africa.

The children had better go to bed early.

| must finish my homework by tonight.

You should watch the film.

Amy may buy a new laptop computer today.
10 He can jump seven meters in the long jump.
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2 CHECK-UP

1 | can not[can’t/cannot] find my MP3 player.
2 You had better not leave.

3 She should not[shouldn’t] do it again.

4 He must not[mustn’t] take this bag.

3 CHECK-UP

May | have some sugar?

Can she check out this book?

Would you drink something cold?

Could he spend time with you this weekend?
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5 be able to 6 can
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1 can play

2 can’t think

3 can mimic

4 can't travel

5 can’t speak
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1 can/could, Can/Could
2 couldn’t

3 couldn’t

4 can/could

5 couldn’t, Can
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could have played
could come over
could have saved
could teach
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6

could have asked
could have warned

unT O2 ) eE-ERCISES

: OlAtshs o] =320| e
B7IR=d.

B: S10F, EXHA 37121 L% 22 2012401,
A 27t 2= 7E20| 24| U7t LIt 1 oS s2|X| 2l

ZOIE B 4 QURIE0L
B: L{oflAl 25tx] 240pAd Dlotsl, J2ic] Uit o2l 52 Hat

0 U7} O] 2RAAL?

A
1
3

® 2
@ 4

]

1
2
3

S

w N =

O|Zd0] LH7} XIE7EX| B2 XA & Z|1o| AR|0|321 A 2Tt

iy
i

ﬁ
ol

N

m

=i}
_lT_
ﬂ'[__

N

2

o Ho
o Mo
ju
2

oo

=
—1\—%* -"E-"LLT’_ U ES U™ £ USI? 252 HES 27t
MO'{
[ob= FXIZ BE XS ottt 22iet & 712 &
HX|= REC},

He may[might] not believe your story.
Ken may [might] not be feeling well right now.
Ms. Kim may [might] be in the teachers’ room.
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may [might] as well walk
may [might] as well tell
may [might] as well watch
may [might] as well go
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p. 24~25

A

1 don’t have to

2 don’t have to

3 mustn’t

4 doesn’t have to

5 mustn’t
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1 must not 2 must

3 must not 4 must

5 must
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1 must[have to] be

2 must[have to] hang up

3 must[has to] wear

4 must[have to] buy

5 must[has to] study



6 must[have to] remember
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1 mustn’t open

2 doesn’t have to wear

3 doesn’t have to shave

4 mustn’t eat

5 mustn’t tell

6 don’t have to decide
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must have been

must have been

must have moved

must have been
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must have seen
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p. 28~29
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A
1 should[ought to] protect

2 shouldn’t[oughtn’t to] break
3 should[ought to] respect

4 shouldn’t[oughtn’t to] cause
5 should[ought to] watch
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should have called

should have taken

should go

should have come

shouldn’t complain
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should have invested
should have bought
should ask

should have won
should have sent
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had better take an umbrella

had better put a bandage

had better not go out

had better put on plenty of sunblock
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should 2 should
had better 4 had better
shouldn’t 6 shouldn’t

had better not
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p. 32~33

will 2 won’t

will 4 Will/Would
Will/Would 6 won't
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would rather buy
would rather exercise
would rather not tell
Would, rather stay
would rather come
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to read
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would rather not have
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would rather see
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2 024 LIEHH, @5 ol =2 #2k= 2lo|7t =/ofof
SIEE willo] H, (C) 32 2 SF24E 2 7ts40] &l
= U 712X 11 QOO can0| HE,
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Folli= toB™AE 2Lt (B) ores “IEX| (o3 02k 2]
0|2 o HHO|L} STE WEX| 2 22 Lo 2t
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= had better’} &, have bettergt= ESI2 MO|X|
of=rt (C) o H2 MMZ U sRtofo sict= Z315
LIEHHT oD 2 should have p.p.7t &ZE,
- Li= 0|=20fl 7t B0 S2E ot= AECH =0l 7t Jo

SEE k= 20| WHCt
- AO|E[OIIA| Af2tsh= Al S0, J2EX| te™ HE Hif &
M5HX| 242 7Ok

- 2= GET0N F O E2 MiS 7L Eo{oF JiCk

B

1 may 2 must

3 must, may 4 should

5 can't 6 would rather

1 EoIE £ QUSK|x 2ECt F=5tH, 2XIE Tl Eats
Z0|22 may7t HE.
A Ul 2XIE ol 2. HE =2k= 4~ USKI= =2t
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(A) English 2012 £7| 2lsif Z4={o2 English 1012 0]
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WHE 278 $= UCks OJojo|22 may7t HE, (C) +¥
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1 must 2 might
3 must 4 can't
5 can’t
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can’t have seen

may hang out, may go

must have stolen, may have left

couldn’t have been

1 A HIZ[ofA 22 2o U= HXI? 25 S=0IM HIZIE XLt
X 2b=dl, LHE £ 2 &3lo].

B: 247t UE 82 27t glol. TE7tF HE RHChH WAl QIME
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uNnT O 1) erERCISES p. 45

A

1 May | have a cup of coffee?

2 Can | turn on the music on?

3 Would you hold the door open for me?

4 Will you hand me the recipe book in the
cupboard?

5 Could you help me carry the heavy boxes up
the stairs?

6 Could | borrow your notes for the statistics
final exam next week?

1 Ul 1S 017 IE Rl
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2 Ul 3912 Al it
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B

1 emptying 2 borrowed
3 taking 4 asked

5 proofreading

1 A XHE M2f7|8 & HIR EHKR?

B: AR H2l= Rt 2 LHTM|L.
2 A 7HAOl Zh=Hl Ul AEEAS 23 Enie?
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A
Why don’t we go, Let’s not go, Let’s spend
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1 Shall we go, Why don’t we write, Let’s start
2 Shall we try, Why don’t you order
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HiLATF 2 SX|= 2207 NS Z(6H.

T2 RE A= 2l o ?'2k=
= KIS LIEHHCE,
CI2 RS Atz Al ouh? A LSt 24 o S 204,
IS HotX| U2 ASZ Hot ui Zio| E2i8l
[2] mustE £52 LIERHC
= t.':.*Oﬂ 2|2t AN H= WS HSHK| LU, T

o|o|e] Why don’t you ~?
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cf Ef olo

must have 2 may, help
may be 4 must be
may, be 6 may go, may be
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may be7} &=,

A 25 2F0i| HI7H = A Zot

B: Ul 20| HSX|= Saf. YTt 7|ct Lok g 24 Zot,

MAEIS| 0|F0] 20f U= HE Z7HE 5l Ts WAl &
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FEUIEW PLUS p. 49
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1 ® 2 Q
1 (A) HEAFE 211 SAIS oo 2XH FMiQksh= 2|oje]
Let's7t M=, (B) = 7Hel Ci2 %é.% AlZAM EH SR
Hetsk= 240|122 Shall we?t &, Can you2t Could
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£ Hst, BolIA| = CHE oiRE FRtsh= 240|122 Why
don’t youZt A&,
A: O] AER HX|CH 2R RS Ho| =Xt
B: 5 72 CI2 SAIS AIZM LiE 2= A ofuf?
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B: Z0t. QI0IEIS 22iM F25IXL
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20| Lot Qleoz EXM HIl= &g A 2ol Qo)
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[CINE=Y
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® PART 13

p. 52~53

a H~ 0NN =

w

0o NOoO O OND =

unT 089 ) exerRCISES

CHECK-UP
You look tired today.

A

The news made him sad.

A

The soup smells delicious.

A
My sister’s bedroom is pink.

A ]

We saw many wild animals in the forest.

L[ 4

CHECK-UP

easily, easy

quiet, quietly
beautiful, beautifully
fluently, fluent
honest, honestly

CHECK-UP

two thirds

a half[one half]

twelve point six seven
one fourth

three fifths

five ninths

(zero) point seven two
eleven point eight eight

p. 56~57

welcoming
motivated
damaged
convincing
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A 0NN =

embarrassed, embarrassing
confused, confusing
delighted, delighting
alarmed, alarming
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S| ek

sleeping 2 disappointing
interesting 4 ashy
s AUS 6 amazing

AR = 8 astonishing

o
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= TRK= ofololA TRE ¥

2sfio] B $x1= 04 AlgtAziic

Of, EAI0] 312 ARIQIX| 23i0i. S0ISZS.

SLIALS 2 SactEn J01H £35S DJAS XIIC,

Lt= Zoxizt ZElof Zofl ot ol Zick.

S0lS2 Mot S@rh 1SS 2wl L2k % M2S

clojse e 71 2o,

L= 1 2xlel L83t ol o arssic,

A2 sl et S2te A2 A4 REs Yk

15| Lo, DA of7 [N 5| £lof S3tof. SAl0] Ligks
12t AMZISHK| RIS

22l 1 ZHE 049 & 21 UK

oict,
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N
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QUAAE sHzol

Please hand me the large plastic bowl in the
sink.

Hanbok is an example of traditional Korean
clothing.

I’'m so jealous of Jackie’s beautiful long straight
black hair.
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4 Ben replaced the ugly big brown wooden
office desk with a new one.

5 They’re an exciting new British band.
6 | can’t find my small red sleeping bag.

SiiA]

1 XoilH S=cHofl U= Aokt S2tAE ORS AUFAR.

2 B2 MSHRI o= o= 0| Bt oo,

3 U= Ai71e] otSEM 71 A2A W2 7} 0 St
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unt 10 EHEFRCISES p. 60~61
A

1 before 2 this month

3 soon 4 ahead of

5 there

1 L= Toj| ofx2of RtE 2 2k

2 O|g Y of=RulLt S0l ok Zo|ct

3 X2 Zoioll Xkt &o| SUCE

4 IRt HHEF0| BER} A0l REE MIRICH

5 HLet L= ZAERETZH0|A BHt Falg HUCH

B

1 Do you'take the subway to work?

2 Mr. and Mrs. Kim have'been to Australia.

3 My friend and I'have salad for lunch at the
cafeteria these days.

4 My sister and I'do everything together. We're

the best of friends.

]

1 A2 ol SAol| XISHES Bt SL7K?
2 UM ERE= S50 7k =ol gick
3 Q=3 U ziFet L= 7iE2[ololM FHeE MaEES H=rt
4 Lot L= 2= LS Y et Rek= 7R Eist 20|k
C
1 hard 2 Embarrassingly
3 yet 4 carefully
5 easily
SiAY
1 2BL LAl Aot Wzl Aok
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3 M2 UCLAO|A OF] Ot CHEl= EX| RIUCH
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I’ll go to the library by bus tomorrow to return
these books.

The concert tickets sold out quickly at the box
office this afternoon.

| saw someone running away from the jewelry
shop at 11:30 p.m. last night.

Chris lived happily in Korea for twelve years
before he moved back to Canada.

We were all waiting eagerly outside the studio
at seven o’clock to catch a glimpse of Rain.
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always, At night, excitedly, loudly

2 ever, quickly, rarely, just
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1 such 2 such
3 so 4 so
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4 22| dol MYES U 1 wa| ShAM olsHat7| ofct

D

1 enough 2 very

3 enough 4 very

5 enough 6 enough

7 too 8 very, too/very

9 very, too/very 10 too/very
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AL swimmer $£A1 HFE

HAL won't take A1 @2
AL marriage =4 71

SHEAL summer AL 0|2

AL got up 44, S|

HAL arrived $A QIXI

S2AL grandmother 441 Ztst
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p. 66~67

© N w = 3

bored
frightened
depressing
delighted
tiring

shocked
satisfying
pleasing
alarmed

10 embarrassing

o o AN

1

LH(1)7t X|25ictn =7|22 bored 7t &,

Ltz 19| Bel= SHo| AY5| X|7ALX|2 Qlct
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20| MRS O 2= Ao thell 11 525 BUCt
S=5(The animals)0| FAZS =71 A, frightened
b St

SE=2 3¢6ke S FASS =RiCh

AAThe meals)7t LIS PHEEAZY| OHE @Qlo|22
satisfying0| &Z.

L7+ ORIkl 7| 7HE0IA HES AlAks BEEAZRICE
Hsp7t LK1)E 225t 2= 221, depressing0| HE,
Lk= Zofl Xt US I 225 FHE BX| o L5l
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9

10 Z42f ojof |7}

Alt=(people)0] S2t22 L7io02 alarmed7t X,
T AKI7AIZISHR| LUUS0IE ARFS0| SRicH

0| MILIE ml&sH| sh= RRI0|=22 tiring0| A&,
HMues UL o=t 5128 BN SHEJMXE x| 240
EXt2|ofl SACE.

LIS 261l sk= 221, embarrassing

o] MH,
Jld= RRAO| A X} &7} Lot
HELIE Sokaioir)

SO MM

HEIX| 7% ofof7 [3HC,
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1 She gave me a small metal jewelry box.

2 There was a wonderful woolen rug on the
floor.

3 I've just bought a beautiful wooden coffee
table.

4 My father will be in Germany next month on
business.

5 The puppies played excitedly in the park by
the river all afternoon.
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p. 72~73
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CHECK-UP

wiser, wisest

more, most

cheaper, cheapest

prettier, prettiest

younger, youngest

better, best

hotter, hottest

easier, easiest

warmer, warmest

10 earlier, earliest

11 larger, largest

12 harder, hardest

13 bigger, biggest

14 less, least

15 heavier, heaviest

16 more popular, most popular
17 worse, worst

18 weaker, weakest

19 more important, most important
20 sadder, saddest

21 longer, longest

22 more difficult, most difficult
23 more slowly, most slowly
24 worse, worst

25 better, best

26 more, most
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2 CHECK-UP

1 better 2 heavier
3 sweeter 4 more quietly
5 bigger

3 CHECK-UP

1 hottest 2 busiest
3 most beautiful cleanest
5 most slowly
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1 ashard as
3 as pretty as
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2 as white as
4 as strong, as
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5 as many, as
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2 five, times, as, as
3 as, soon, as, possible
4 as, fast, as, possible
5 As, soon, as
6 twice, as, as
7 as, much, as, we, can
1 U7H EX2loll SXIatRE =270t 20182 s/t
2 L= 100Z=222 Hdck 5009*§E|% o Hs 4 Ak
— U= W7t H2 Ao i vl of 2 Z22|E E o ok
3 Ueol =20| Eesl 7tsst st Wa| 22| Toz ofF
4 Z[cishEe| 220|1 AL, ZF T O FHOFMIR.
5 H|7} ZIXIXIOMKL EfYO| HES £ LIEHTE
6 U ZFE tlZ2l= AR 17(71Q1 ol JHo| ZRE oiza|

= 27)710Ich,
— Tdo| ZBE Himals Lio| ZEERC St of 3ck,

7 2= B0 Yl7| BE= 7ttt of ©ol shof Stk

Sugar is as sweet as honey.

A lake isn’t as big as a sea.

My photocopy isn’t as clear as hers.

Pearls aren’t as rare as black diamonds.

Jieun has visited Europe as many times as

you.

6 A koala bear isn’t as dangerous as a grizzly
bear.

7 The Thompsons have as many children as the
Browns.

8 Winter in Canada is as cold and bitter as
winter in Russia.

9 John doesn’t eat as much junk food as his

brother, Peter.

10 Ice hockey players are as superstitious as
basketball players.
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1 The faster the taxi driver drove, the more
nervous | became.

2 The louder the band played, the more excited
the crowd got.

3 The faster we get the classroom clean, the
sooner we can all leave.

4 The higher Jeff rose in the balloon, the more
he could see of the savanna.
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darker and darker

angrier and angrier

colder and colder

more and more dangerous

better and better

more and more anxious

heavier and heavier
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1 last 2 farthest
3 best 4 worst
5 brightest
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1 one of the most attractive cities

2 one of the biggest problems

3 one of the most famous cities

4 one of the greatest scientists
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shorter than any other route
No, shorter than
No, as short as
2 hotter than any other day
No, hotter than
No, as hot as
cleaner than any other room
No, cleaner than
No, as clean as
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1 Susan is much thinner now than last year.

2 It’s much colder outside today than yesterday.

3 Jonathan studies English and math as hard as
his brother.

4 Beijing has not been as successful as Tokyo at
attracting tourists.

5 Joseph has risen to the top because he trains
harder now than before.
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as many books as possible

The less we spend, the richer we become
more and more important
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REUIEW PLUS p. 89~90

® 2 @ 3 @ 4 @ 5 ®
@) 7 ® 8 @ 9 @
1 7 st Anx'eh= Qo2 "the+Z[ME.2 HEIE
MO} 522 the most dangerousZt =&,
L= MIAoIlM 71 QI8iet AT} 2latD AZISHL?
2 ‘U7t XIZ77IK| £(’ve ever seen)0|2t= 20| 2 "the+E[A
ot 8 AEEl= 0172 the most energeticO| &,
Ul SM Rz 7L XIZ7IR] 2 AR S0l Tz 7hst 2
7lofl Tt AFHO|CH
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Tas+®Z+as Lt "H@ZE+than 0| 7}5. as entertain-
ing as7 &4,

LH= ‘AmO|C{gh 3°0| ‘AmO|C{gH 1°0|L} ‘Amto|C{gH 2°0kS
MO|U=A] 220

4 weather balloons(ZI% #&7|7)2 commercial
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REGH Stk
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® PART 10

p. 94~95
A
1 building 2 stealing
3 made 4 surrounded
5 broken 6 troubled
A

1
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3 = §=20llM BHS0IE A MP3 E2(I0|015 Tk
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disappointing, disappointed

amazing, amazed

satisfying, satisfied

touching, touched

shocked, shocking

confused, confusing

amusing, amused
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1 depressed 2 annoying
3 excited 4 inspiring

5 interesting 6 surprising
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1 annoying 2 bored
3 satisfied 4 worried
5 disappointed
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1 SRHEAL 2 SBA
3 AXHEAL 4 SBA
5 SGAt

HRR= OP12 B B 23 2001, HY Hoil
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SWEH A D s Z30) 22 APl CHOL
OloIS0I7H Gl Z4Z AMFEX| OHI2. 250 0l e Hole.
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UNT 171 ) ERERCISES p. 98

a H~» 0NN =

iy

The stolen artwork was recovered by chance.

2 Some fried potatoes and onions would taste
good.

3 The boy sitting next to Ally is her new boyfriend,
John.

4 They live in a renovated mansion originally
built in 1890.

5 The teacher gave us a challenging assignment
for homework.
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3 2| Foi| olot U= A2 T142] M AL IRl Z0|ct,
4 15218900l =2 X|OIRE HEE Kol A Uk
5 A2 /ol SHZ EE IS HFRACL
B
1 cheated 2 waiting
3 saying 4 confused
5 beating
oAl
1 &zl5| Lalin, L= 1ol xiQholl £2 2 22 =200] SUCk
2 UE HR 21Se 7ICk2|A| siiA Ojetsict.
3 U7t el 7t=0ll thsl 2 LS sh= XS LiE] FX| 24%0d!
4 ZTUAQ| HO[=TLE L7F ORS oA Bt B AFsl 715
d2fL?
5 L= €27 M40 Opx|at 2l 30 SOIREE f L AEO|
2A| He He w7t
C
1 having 2 swimming
3 seen 4 destroyed
5 published
5l1A1
1 He oS8 7o qAL?
2 Olol=0] HictollA =Fat Uk
3 2k=olo| 1 Fsks ®rk
4 1 722 188610 SHAHE mba|=|ACt
5 ‘=2 ERIZ'=1851H0 MSo2 UH|UCE

uNTT1H ) ERERCISES

p. 101

>

o O OND =

(After) Listening to the song several times
(While) Playing basketball with his friends
(While) Trying to sleep last night

(When) Reaching into my bag for my wallet
(Before) Asking your teacher for help
(Since) Having started yoga
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(7)) 217ES S| o LOIKIE RBAFIES H2ln Lizict
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p. 102~103

© N O W=

embarrassing
charming
Fallen
excited
injured

parked
cornered
disapproving
frightened

o o A~ DN
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:LQI oHE(Hls behavior)0| HEtA
embarrassingO| XZE,
19| EiE0| YEARRICE

g7l sh= #eloleg,

XSXKThe carj= FXtzl= 240|122 parked 7t &E,

X g Holl =Xt XtSXE7H L Zd0]ct,

22fEl AlZZEold cottage)0| AIRE DHEAIZ = R210]
|22 charming0| &&,
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cornered7t &&,
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1 annoying 2 confusing

3 closed 4 shocking

5 surprising 6 disgusting

7 entertaining 8 bored

9 introduced

A /SHA

1 A2| X|2& 0t0|E(Screaming babies)0| CIE =275
RS LA 5h= 210|222 annoying0| M,
HIE7 [0flA] A2IX|2H 2= Ol0IE2 (HE2) MBS LAl & &
Ak

2 =2 HX[E(The road signs)0| EE AIZS SZUAZA|
Stz @RI0|22 confusing0| HZE.
0| FtHo| =2 FX|I2 OfF S24AFLCE

3 F7toll 2fsh 1 E(the door)o| €6l Zo|22 521
closed7t =&,
222 25l 28 WXL 234ct

4 0127 2R Bo{RCh= Aol E= AR 24
2 F= |2l0|=22 shockingo| &E.
0F=27h 2% Al&oll BoiRCh= A2 AEs] S20IUCt

5 AlEto| IHY(The referee’s decision)0| CIi2 F2712 =
2t k= 210122 surprising0| =&,
0 Almte| B 5| E=2kR 20| oL AL

6 S%(Smoking)o| CIE AlZt2 AYA sh= 2elojlzz
disgusting0| =&,
12 0I5 72 SEoloH Li= W7t S5t Hizt

7 #ti(The clown)7t CHE S==27I1E oI siF= &2l
0|22 entertaining0| MZ,
1 A= XH0|UAD, 1 OsAE ZERICE

8 U7t Aol XIF&E L77k= X0|=2 bored”7t HAE,

Lt= o] Aol xRl b= a7t & 4 U= T2 AlUo] ULI?

9 =& YAThe guest speaker= AJME Ziojl2z &=
Qlintroduced7t M&,
1 3|0l ATHE FF HAls 2 SES Bl

C

1 repaired EE= repair

2 EEAYUS

3 irritating

4 called

5 unopened

6 waiting

7 EEASUS

8 disappointed

9 SEHAYUS

10 E2l A 8lE
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HAd /SHAL
J1o| xtsRKher car)?t $2|zh= 20|22 repairedLt
repair?t &,
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1 ASS WMZ0| LiTh ME TIoksH
i 01E(my name)0| E2l= Z0|22 called7t ME.

L= 0] MAEof| 2fsl L 01E0] E2l= As SUCE
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1 Having met him many times before

2 Not having enough money to take a taxi

3 (Before) Coming to class

4 Waiting for her nails to dry

5 Being a large international city
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FREUIELWL PLUS p. 104~105
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1 ® elE2|ot ZX(The Victoria Falls)7t 2= AlZIS =2t
7| 322 amazingo| ME.
D 29| AxF=SZ2ICt
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Z tempting0| HE,
@ J4e] MHS THX| 2f7te] ME20| QLS #0|ACt.
© b= a7t Lot AT olokr|of 0|7t U= A 2RACt
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© A HIF2 OfFLI? L= Wi7F 830iIM Ul A7t BR/E SHct
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@ A: 1242 DH2iRQl HQI0|7 = SRR, HolSO[X| QAL
: ZIAOIMIR? DHZO| HHFIR! L2iZAR.
@ A Z AR I 22l 2 21 2ok,
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B: 22X L7} 8 S200] A2 Li7ks % Hol,
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Because(As/Since S) Jiwoo grew up overseas,
she enjoys eating foods from other countries.

Thaving+p.p..2 AEGHs 2AF 22| AlXls FEo| AME
C} MCh= 520122, 3t AXIQ! grew upO| ME, O|RLE
Helel EAFEE 0|11= TSAR=E because, since, as S0l
Qlck

X|R= ool st= S 7HK|T UZIXITE L= XM MIAl AZ!
0|2t MZI517|E 06t 2] OfHX|7t @m0 | dlH=
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® PART 10

A

1 or 2 and

3 but 4 and

5 but 6 or

1 U= 974 620l Efo{iL], OtL|2 981 620]| EHO{RtL|?

2 Ol0|IS2 et = QME 2E1 50| BIRCL

3 Li= 2 SHIS X2 2K =Jch

4 ShLto| otHX|t R2| ME2 st mf TFE RIS FIRCE

5 TXIARI2 Ma|otK|2t HIMCH

6 7t SIS AKX §LUTE TH= Ot X UAALE AR S
0|AZ Aolck.

B

1 yet 2 nor

3 so 4 for

1 32 mf mESX|2t 371= Mssich

2 L= 3l9of 7iX| k1, aSE oF 2Tk

3 HI7h Hol 2N, L= 0519 E*OEU'_C’E'OWE}.

4 EMIHUHR OYM L= FHER $Fs2 71 HACL

C

1 Jim stayed home all day, for he was feeling
quite ill.

2 My knee started hurting again, so | stopped
running.

3 John has a Ph.D. in engineering, yet he con-
tinues to work as a waiter.

4 Susan wasn’t answering her phone, nor was

she answering her e-mail.

T2 ol otz 2B Eofl AUCE
L 20| CEA| OFZ7| A|ZISHA, Lh= E2|7|1E ZRICH
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uNT 20 ) eReERCISES p. 111

A

1 Tracy is not only clever but also hard-working.
2 We should either walk quickly or take a taxi.

N
Hu
°|1.|_
[
I

This is not the end but the beginning of a
beautiful friendship.

The crowd at the stadium was both large and
enthusiastic.
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or 4 shouting
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Do you hear’he’ll be leaving soon?

It was quite surprising’he passed the exam.

| think ‘the lawn in your backyard need
trimming.

My Mom is hoping‘my brother will be safe in
the army.

The problem is‘you aren’t being honest
enough with me.
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1 It is a miracle that you weren’t hurt in the
accident.

It is not surprising at all that Robert was late
for school today.

3 It is clear that your audience didn’t understand
you well enough.

4 It is the most important thing that you are
honest with your friends.
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| don’t know what the man said.

Tell me what you had for dinner.

We wonder when Yunho will show up.

I’d like to know what the teacher said.

| wonder where Sara and James went last
night.

Do you know what Sam gave his best friend
Mike?

Could you please tell me where the nearest
music shop is?

Do you know when Jin’s parents will arrive
from Melbourne?

9 Could you please tell me what you were doing
in front of my house this morning?

SiiA]
(7)) L= L 27H40] ofC|ofl =X OfL|?
1 L= ot et HeX 222004,
2 Pt MEeR RS A=K Zall A,
3 REl= 227t AUl LiEte ARIX| 335Ict

a b~ WON =

~ o

(o]

26 THIS IS GRAMMAR 2 2

Li= MAEHO| M2t J=X] L7 IS JBlct
= 7} ofzliol| oflol| ZE=X| SZSIct.

| M ZIBE Z15201 00| =017 RS FU=X] OfL?

f77k2 S 77 ool QU=EX] 2 FAIZR?

Tlo| REHO| K| BHE0IM =AEK] OHL|?

21 00l 22| T YOI RS K| sl FAZOIR?

UNIT 22 | ERERCISES

© 00 N O O b
N
0.

p. 118~119
A
1 assoon as 2 while
3 since 4 When
5 As 6 since
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1 Since you paid for the concert tickets, | insist
on paying for dinner.
| insist on paying for dinner since you paid for
the concert tickets.

2 As she was older than him, Greg let the lady
take the taxi first.
Greg let the lady take the taxi first as she was
older than him.

3 After Jihu arrived in Melbourne, he made
several new Australian friends.
Jihu made several new Australian friends after
he arrived in Melbourne.

4 As soon as Nicole heard someone knocking at
the door, she rushed to answer it.
Nicole rushed to answer it as soon as she
heard someone knocking at the door.
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Rock climbers use talc so that they can grasp
slippery rocks.

| gave Sally my phone number so that she
could contact me.

Please arrive early so that we can have lunch
together before the meeting.

She took an English course so that she could
communicate with her foreign friends.

FOUCE LE= W7t S APIS Jelth
F o QS 20EH21E FUCL

= T A

ru|o f"

- L}E |7t =4

It 252 0|12t HilE &

= .

— 4 SEVIS2 0|T122 HIRIE 2T SAXE Ageitt.
Li= A2|ofA L H2XME FUCE L= 367} LA S

£ HiRtCL

— Li= 27} WA S22 A=S a0l Lo HRXE

2517|

Zist7| Fofl &l Hals

22p7 +§|°|E AEISH| Fofl OFaiZ ig 4 == U =
A3 FAIR

U= o Zoig S I3 =0l TS U ASS}

718 Bt

UNIT 23 ) ERERCISES

ASot7| kM S0 HolE

p. 122~123

A

1 Though 2 whereas

3 although 4 If

5 incase 6 unless

7 Even though 8 aslongas

9 While 10 In case

1 7ol o H7t X2 Ral= Lol F7HE Sk

2 Holzel SHRl M2 7|7t A LRX|RE Mol 717t 210
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We’ll both be late for the concert unless you
hurry up.

Unless you pay the correct postage in advance,
your letter will not be mailed.

You cannot apply for a driver’s license unless
you are over the age of eighteen.

Unless we act now to protect endangered
species, many of them will soon be lost to the
world forever.
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1 Whereas 2 unless

3 such, that 4 Although
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1 The leather jacket was so expensive that |
couldn’t buy it.

2 He has such high marks that he has applied
for a full scholarship to Oxford.

3 The weather was so beautiful that we decided
to go for a swim after dinner.

4 There was such a strong wind that we decided
to stay indoors and play cards.
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1 as 2 Assoonas

3 until 4 before

5 As 6 Assoon as

7 before 8 When

9 until 10 since
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@ which you use to unlock a door

© who works in a coffee shop

® who is in charge of a museum, art gallery, or
library

® which you use to play tennis

® who is famous, especially in the entertain-
ment business

@ who shops at a store
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1 Did you see the postcard? It came this morning.

2 These books are my favorite. They were
written by Jane Austen.

3 The people talk very loudly in the mornings.
They live upstairs.

4 Do you remember the girl? She showed us the
way to the mall.
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1 Where’s the can of Coke? | bought it yesterday.

2 Here’s the magazine article. | was telling you
about it earlier.

3 The pictures were very impressive. Jim took
them on his trip to Australia.

4 The people have become some of my closest
friends. | worked with them last summer.
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p. 136~137
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5 which

7 which

Lto| @iit= BIAIO|ES CIXIRISH= S|Atof| CHAC,

SLEE2 F2 LI0| B2 ARES0| & Za2l= &¥o|ct

Rel= metotolA S| HER=H, 22 L ZI77t FHs

R0|ACt,

TS0| XX U= A ZE0| H| W20l 2f6HK|2 QUCH

5 1 ti=e= 089 il SIESE Rl XS BE AR
=

5
2 wat B2 0 E57 Yt

w N =

N

ol

7 24(01= =zfolye| Ofx|at H2 QIEUeR Liz{ot gh=d, T
THO|AAC.

i

B

1 what 2 that
3 What 4 that
5 what 6 that
7 that 8 What

1 U= MdEmM X2 st 285 SAU?

2 Li= oiElof ZUEAE MRS § 775 LX| 234

3 R2UF LR HIUE A2 1 010|S0| oLt sl Ho|
X| d=lh= ZH0|UEt
L7} OF=T LM, U7} 22 BXIS2 L7l B2 fI2ts FRUCh

5 LH7F a0l R e RERIS0IE, 0jiks a0t o 22 LA

SHFX] Q4UTL.

6 Ofx| 2ATHollM 2bM 07| AAE L TFE2 CFS =Holl Sok=
Zo|ct.

I

7 Zoll SPES0| 7= e gx2 AEECH LIQICE

8 U7t 2 MOEE S F2sie ol Yokt ZalUis o]
Qi

C

1C 2 R

3 R 4 R

5 R 6 C

7 C 8 C

i

1 U X3 24t nlalof n UgXIE 2Erkn St

2 TOIA 22 T HAS OfCIM B 4 ULIR?

3 als Ut ST UE HEE QIR0 LT

4 3 Hxis XRI0| MRIZXIE B12 | th2of M A0 Sy
=

5 Ui AlLHol 3t JHeist AT Algiol ZhgLI?

6 Li= BIZE0| XTI 74 0lmai2 SHOlRH RS UALI?

7 Li= A2t Ssio] ZY thEE BHCHs AMS ST

8 SO Lofct Zo|A OFRE CIXIX| UUTH: S H

71Xo|ct.

0
m
%2
o
nx
w
=



uNT 28 ) ERERCISES

what
that
that
that

—
0
(V]
=4

o o ~DN

25| Lt= Ch30ll 4= shor 2X| 28 RSt
2 B Lofih ol thgt el ojopr k= B7| ofF
U7} 9iot U= ofXk= 22| SHOMHXIAIM L4 TtEM 2
TE|7F 2UT LA A Blo L2 U SAI0] 25 S3HCt

AHl2|7t xplel Z= miejof sl € k=
AELC

T
s
rlo
1
N
>
o=

Li= 312012 HotE & TJ2|A0| 24 9l ct,
ZAlZsH, DRoIE. MLmol|A| W7t sfu 7h= Zofl 2 XS Fetst
2| 2.
|_|-E $E|7|- E':!’—E—éml‘l =l PN = =] | o= &8
2R d=Ct

p. 140~141

A

1
3

how
why

5lA]

W N =

(o2& ) I NV )

o O ON =

TRIIEE OFS| @57+ :
0[20] X|=t=r0f 227t RHle| eFELAofA| ’gé?_* Algo|ct.
L= T MM 22 B2 A2l &
OofLf?

2001 9 11
S2et dolct.

U2 HB2IAESO| 722 NA| 2S5 MEHE

@ where Air Fast produces its popular aircraft

® where Alexander Graham Bell was born in
1847
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® when summer vacation begins
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1 where

2 the way = how A

3 when
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5 why
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10 how

1 0IX0| X7t ARl SE5t Hekst XIFo|c.

2 A2 o Uiz AES MIREX] el Z2h?

3 200532 X|p7h TRIAENIA MBAS B2 SHRIC]

4 ETO0l= W7t MESHH AAE g 5 s B2 AES0| Bt

5 L= U7t gHEe 2R R3H 0|RE ddsl & Ao|ct,

6 o] Hotet L7t AESH 2 11 4|7 it

7 UW7H R O SUls 25| x7HLo] =idct

8 L2 = =20l s2i30| 22| ol 2= Ho|ct,

9 LIz U7l SO EA SHeAZ &= U= 212 Ml 7HX| s
ziE Zo|ct

10

ElE 25 7 2ot &
S1= iR 27t ST

D

1 However 2 whenever

3 whatever 4 whomever

5 wherever 6 wherever

7 whoever 8 However

9 whatever 10 Whoever

1 OfF2| mlZsiEiEte e aRE shofat St

2 HE] tidlol 7ksstH SiXiete 22| 7SS AMEt=ES izt

3 Li= 2& 20| YoLtE HE S¥stzi 67| U= 7ok 2]

L] 2IME Chot7 |2 sHzt.

4 U7t Z0fskz F=HIAIE (22l Z2ME BE F0{= &Lt

5 20| AlE2ES B=t 20| ELi= 3201 O{CIE 710F SiCt

6 Zall F710ll 2= U7t 71 A2 2 OCIEX] 2 2= U J|
sto| glod!

7 STE 839 AZT EE5S 0N SaiFE AR Al
20| ACt

8 U7t ofR2| EEoictn MZsHE 2 maEe| 0| X
Ch= AS 47 E ZAolct,

9 S2l= M7 EE Zhofl LY sHHOIIAM TS & Zo|ch

10 LH ZAof| S2tE 10 A0S Al $2 A2 7= FY Lt

2 ARolet,



FREUIELU p. 142~143
A

1 why 2 to whom
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® what he told me

© that | borrowed from the library yesterday
® what she has to do next

® that | need to plug in the notebook computer
© what you saw at the museum

® that | want to wear to the graduation ceremony
next weekend
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p. 149~150

goes
doesn’t arrive
spoke
were

AW N =2

5 will be
6 want
7 weren't
8 were
9 would make sure
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1 E20/= Y=20i| 713, Y=20{= o|op7[& Zo|ct,
2 20| 2 RG] fed, T 7RIS =3 Ao|ct
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Bl
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1 If the weather were good, Jason would take his
dogs for a walk.
2 If the trans-Korea railroad were completed, we
could travel by rail to Europe.
3 If they had enough money, they could build
the proposed Incheon Tower.
4 If Hojun spoke English well enough, he could
become a famous actor in Hollywood.
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1 have

2 want
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4 were, would see
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p. 153~154

1 If the judges had been fair, Kim Dongsung
could have won the gold medal.

2 If our teammate Jinho hadn’t been sick, we
would have won the volleyball match.

3 If the radar had been available, the Titanic
wouldn’t have struck the iceberg and sunk.

4 If we hadn’t cut down so many trees, the bald
eagle wouldn’t have become endangered.
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1 If | had studied French, | wouldn’t have a
difficult time traveling in Africa now.

2 If my brother hadn’t spilled milk over my
computer, | wouldn’t need to buy a new one.

3 If Alexander Graham Bell hadn’t invented the
telephone, we couldn’t use the telephones.

4 If my mother hadn’t gone to visit my grand-
mother, she could teach you how to make
dumplings.

(&7]) Z£0K= O{X| ZES UX| LOIM XIZ OfC},

— Z0P7L oMl ZES UACRIH XIZ OFZX| 4= Hic,

1 L= ZHACE SHsIX| QotA XIF otz2|7tE ofdlish= ol
0{24=0] QUCt.

— L7t ZZAN ZRE o2t X|Z otZ2|7tS ofdlsh=
o24=20| gt i,

2 Ui S40]| Lif ZRE{0] S5 20tA MZ SiLt AfoF ShCh

— LIl S0 L ZBHE0l SRE £X| LUUCHH A2 St Ao}
g Tt gls did,

3 YEME T2|o]Y Ho| IS LM, L7t HSE A

2t 49Uk
— oraAie] J20ly Wo| MairlE WAl ytciet
Qe FabIS ABE 4 S Hi.
4 22l ofoiLy} EoiLiE westel 207] w0, Bl piee o

S 7123 & 4 ek
— 22| ofoiLI} HOILIS W5t 71| I, Bi B
WS T2 B 4 U H|

flr

be

hadn’t gone

had known, have cleaned
had sung, have embarrassed
hadn’t become

ahON = O



6 have
7 had defeated

1 2o} o] XiSZE @XtT S7[X[et
2 /T Sf0HX| RS i)

= 272 2 471 8lCk L7 TElol 21X eiteiate XiZ
Z5tx| 9ot 2 Bl

UTEtE, 2= X

3 Lb= U7t YEsh=X] S01. U7 LRAT2H, g XIS Hidl,
4 LH7H Ofd| TEjOM Leahs O & SUCHH FH1E A0IM Y

SIBIX| 24US B,

LEM=

5 382 Huhgt Ayl S0l Qs F=UCH 30| BB
AUTIRHH, QIZI2 HD X|F1E SX[sHX| RIS Hi.

6 O[d| 1= £2lH W gSd2 E=& olo| ct Ach 27t

o= o=
S M— ol 237 B2 =S 4X| AR XIF 27
=0| AS Hid.

7 Z0RRISO| Xjot MMol|lA Ft2EfDO| ISt At Sheks )
HHAIZICE StL|fo| 2olols Sa|FOEIH, REel SAk= o
ECipve=g=clh

D

1 should have worn

2 should have worked

3 should have taken

4 should have won

5 should have bought
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| lived closer to school.
our team had made it to the final.
English weren’t so difficult for me to learn.

| had studied enough to get a good grade on
the science exam.
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Had it not been for the bravery of the fire-
fighters, many lives may have been lost.

Were it not for the warm Gulf Stream current,
northern Europe would be much colder.

3 Had it not been for great patriots like Ahn
Junggeun, Korea may never have become
independent.
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be

had not gone

had not been

hadn’t eaten
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hadn’t invented, have won
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gotten)7t M=,

LH A2dof] AH RFAAS BIX| RaiM [2H0|UCt

— A2lof] M KIZIZS WotoR B Hir.

ZAMO| HICHOIA @2 SOobM 80| EtSX|E RECH
(might havey= £=2| 2jojo|ct, $IxH AKES BHHZ 7t
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continues 4 be
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hadn’t come 8 be
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‘L7t L2t 0|2t SR AMMe) BitH(were)S 7HFYGSIE2
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p. 164~165
1 CHECK-UP
1 on 2 on,in
3 at,in 4 at, at
5 at
2 CHECK-UP
1 until 2 for
3 during 4 by
5 for
3 CHECK-UP
1 at 2 on
3 in 4 from
5 on 6 into
7 through
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1 on 2 into
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1 in 2 until
3 for 4 of
5 to 6 @
7 to 8 at

1 9l 0fi= ino| &,

HIZE 1991 2E] 017 [0llA 2at7| ALY,

2 7Ho UACH= oln|2, ARl SR0|LE AEHS LiEt of
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LK= Oftatoll M AIZE| 701 RACH
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1 during 2 in spite of
3 in case of 4 while
5 despite 6 while
7 because of 8 unless
9 because
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"during+7 17+ BALR} "while+F0{+SAks ‘~ St
2H= 2Jo|, the night2 7|7 HAIO|Z22 during0| &&,
L= ofl ojalstn Bt A2|S SULI?
Falthough+ZF0{+SAHL2} fin spite of +(&)FAL= “~ofl
= EF6'ek= 2ln|. their differences of opinion2
HAMIO|ZR in spite of 7+ &A,

OS2 Q| XI0[7}F QUS0I= I S US SHURITE
fin case+F0{+3ALet Min case of HE)HAl= “~9
401 chd|sto{'2t= 2|0l emergency= HAIO|EZ in
case of 7t H&,

22| st HIMA0f tHE[SHA] 11H0]| of2f o RS Sict
"during+712+ HALR}E "while+F0{+SAt= ‘~ S0l
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falthough+F0{+SAHL2t "despite+(S)HAL= “~oll
= 276t n'eks 2lol. having a test= SYAIF0|22
despite7} M=,
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"without+-ing,2} "unless+Z0{+SAt= ‘~35HX| ¢
H'0|2k= 2lol. ‘you've got ~'2 FORt SAPI = &
0|22 unless7t MH&,

Chst Stelet 2147to] ZA&0| gl 1 URk2|of X|Et 4 gict.
'because+F0{+SAL%t Tbecause of HE)BAt= “~
IH20f'2k= 2|0]. ‘there was ~'= F0{2t SAP} U= 2
0|22 because’t HE,

Li= SollM Sh= SAHHE0! =H(off ESE AT
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FREUIELWL PLUS p. 176~177
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1

TEEX| o™ JZAsHK| =07t 2ol XHAZCE
‘~ofk| pEem'o| o MEE 4 U= A2 without(+
-ing)2t unless(+Z0{+=AhRIH|, they are provoked=
ZF0{2t SAIZ 0|R0{Z! H0|22 unless7t HE,

OKY SBL XTHX| 001 BHSHK| 4=ct
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she was taking Biology 101 that week

2 she moved[had moved] to Tokyo the previous
year

3 | was the most attractive girl in the class

4 she was sharing an apartment with an exchange
student from Korea then
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UNIT 35 | ERERCISES p. 187
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was a beautiful maple tree

2 can you blame him for being absent from work
today

3 had | reached the door than | realized | had
forgotten my keys

4 had a second passed before the lights turned

on and everyone shouted, “Happy Birthday!”
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1 It is important for me to prepare for the final
exam.

2 It is still unclear where Nick will attend college
next year.

3 It is completely untrue what Jerry said to Mary
yesterday.

4 It is interesting that you have grown up and
gone to school in Israel.
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Bomin considered it a mistake to hire Ryan.
Many believe it wrong to spank children in
public.

3 | think it a waste of time to explain myself

repeatedly.
4 Nicole made it a rule not to eat anything after

6:00 p.m.
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1 It is on shoes that Jenny spends most of her
allowance.

2 It was in 2004 that Alex met his current girl-
friend in London.

3 It was on Elm Street that Michael crashed his
new motorcycle last night.

4 It was a fallen branch lying across the road
that caused the accident.
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